
SENSITIVITY (95% CI)

Q =  1.25, df = 3.00, p =  0.74

I2 = 0.00 [0.00 - 100.00]

 0.52[0.46 - 0.58]

0.52 [0.46 - 0.57]

0.59 [0.41 - 0.76]

0.53 [0.35 - 0.70]

0.55 [0.23 - 0.83]0.55 [0.23 - 0.83]

StudyId

COMBINED

 

 

Henning/2017

Boillat-Blanco/2018

George/2019

Schmedding/2019

0.2 0.8
SENSITIVITY

SPECIFICITY (95% CI)

Q = 26.83, df = 3.00, p =  0.00

I2 = 88.82 [79.38 - 98.25]

 0.84[0.81 - 0.87]

0.86 [0.85 - 0.87]

0.88 [0.85 - 0.91]

0.80 [0.77 - 0.83]

0.82 [0.75 - 0.87]0.82 [0.75 - 0.87]

StudyId

COMBINED

 

 

Henning/2017

Boillat-Blanco/2018

George/2019

Schmedding/2019
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